B ettt ettt ettt ettt ettt ereees v
B \Y%
B ittt bbbt bttt b et ettt e et et ereabenens VI
BB B A ettt IX
D e e 1
TR IR FE e e 4

p 3 =TT 4
VA S . o SRS 4
23 FEHH T o e e B e 5
P T - L L e e N 6
P T I T 6
242 ~EZBEE A ZE G BB F o, 7
2.5 B F 2 A T B e 9
26 TS AZN A HEE 3 AR e 14

B B A T o 21
3.1 BT EEF 3 oottt ettt 21
3.2 4 B TR T 5 A28 B R e, 23

33 % ‘%f# LB T T AT i 30
B3LFHF (S F HIEE B B 30
3328 A% A BT R IT2 ™ F255 e 33
B33 A VR F o 36



335 FHHARER I 46

I T = S 49
BB R BB BUAE oottt 51
FI R BB B Y e 56
P 4 2R s 58
FEE 2 oot 61
FEBB] coovveoeeeoeeseessse s es sttt 90
e A Green Strain frd A2 F 2 B TR I3 I o 103
it B X 2393 BpiTh PFad B THRRTE 104
e C A B e 4 PEAE B TG IT e, 109
e D JBRF IR 20 4 B TR AT L e e 111
W4 E RS E B R S BRI S L, 112
g Fofhd AR A PEOD sg B H A SR BCE T e, 117
e G i 5B QRS THEIE T oo 121
ae H g4 54 P05, 60 % B HOA GPBBCE T 129
ek | bt 4 QRS THUAEIE T oo, 137
T I e 1 N 144
e K HERIE W 2045 22 %75 % BT 148
e L A R RAT R AR B ih A E R e, 152

VI



*ﬁ \“ﬁ

§1

3 Ay g MY

F P &

3Ry $4 4B My TR AT (855 1BC3) e 61
By 8548 M g e BA 15 (875 3,BC3) i, 62
H By §4 48 My P4 B 7 (75 LB ST) e 63

He By 89 M g e ae A 15 (875 3,38 ST) con, 64
(%5 3,L=300in,BCL)...ccoorrrrrrrrrrernne. 65

(%5 3,L=300in,BC2)....ccoovrrrrrrrrn 66

(%5 3,L=300in,BC3)....ccoovrrrrrrr 67

(%7 528,L.=300 in,BCA)......c.covvrrrrrrerene. 68

ey 88 M (855 7,L=300 in,BCL)..ccvvveervieonen, 69
2 3 Ay 8048 MAET B (@7, L=300 in,BC2) ... 70
(%5 7,L=300in,BC3)...ccccccvrrrrnn.... 71

(&5 7,L=300in,BCA)......c.ccvvvreen.... 72

(85 1,L=25cm,BCL)...ccovvrerrrrernns 73

(855 1,L=25cm,BC2)....cvvvrrrrrrrrnns 74

(85 1,L=25cm,BC3)...cccovrrrrnnnnee. 75

(455 1,L=25cm,BC4)...ccccoevrneenne. 76

(85 2,L=25cm,BCL)...ccocvrrrrnnnne. 77

(%t 2,L=25cm,BC2).....cccceeununee. 78

(75 2,L=25CM,BC3).covvvvveeerrr. 79

VIl



LogresprseM(T? (%5 2,L=25cm,BC4)....

L) BEERASEM, (86 186 24058 QT-1) ...

L - (b) MAFZHESFEM(%7n 1% % 2,p d #d QT-1)..........

Lo () BEERASEM, (6 186 2,458 QT-2) ...

Lo (b) BAFE A M, (85 LEG 2,8 d 59 QT-2) .

Lz (a) BAFE R M (575 1876 2,389 ST) e,

L z(b) MAEFEREFEM(%o L% m 2, 4 84 ST)evvee,

L ow(a) AR $AEM (W Br5 L=300in, 37 4] &0
L (D) RRFE R A §EE M (W S5 L=600in 3r 4] & o
L7 () BAFEH RS EM, (W 5 L=300inFr4| v
L 7 (b) RRF IR R Ay G Mp(WLET G L=600in, 37 4] & o
L 2(a) RRER R R SR M (W 55 L=300in,$r 4] 8 o
L2 (b) B RR R e M (W BT 6 L=600in, 4] o
L= () BAFE A S BM, (W S L=300in,p o 4
L= (b) RAFEHAFEM(W ¥ 5 L=600in,p o &
LN (@) RRRR R 4R M (W 76 L=300in,f o o
LN (b) AR R R M (W %75 L=600in, f o &
L4 () A EA R $EM (W %55 L=300in,f d #v
- 4 (b) AT $EM 5 (W #75 L=600in,f o #9

VIl



Bl- L2 BT A ZE G B 90
) A TR 91
Bl= F# 3B AZVd @ [ UTEEEEE T, 92
Fle f§ 485 B3R FEEL Y 2 BB 93
I OBREA SRR FEE WY 2 B R 94
B QT-1>QT-27 2 ST A BT 2 Bl oo, 95
Bl= 25 "TAE A B 96
BN 223 8T e T B s 97
B4 22018 THEREDD D BB. e, 98
T S A = e - L N 99
BlLt-(a) €& LA L2 58 T FFRE0T £ Bl 100
BlL-(b) £R2LBAFE 2 3 BT Grp T 7 R B oo 100
BlL-(C) ER2LZ E2afl 221 BT FRTT 2 Bl 100
B~ =@ 1/Cyp— A% 5H(WI14x159 4|4k, L=300iN)...ocorrrrrrrrrrrennee, 101
B+ = (b) 1/C.p — A 5 E(W10x30 4 4%, L=300in)....corverrerrrerrrennee, 101
B+ =) YCp —A ¥ REI(IFF %% (a:b=10:1), L=25CM)...c.ccureneen. 102
= (d) YCo — A ¥ RB(PFREH (a:b=30:1), L=25cm)................ 102



